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TIME     3 Hours

QUESTION ONE
Over  the last two decades, tuition fees at most  Universities  have increased by 50%. At the same time, the number of students enrolled has increased from 22,000 to over 35,000.
Does this example demonstrate that the Law of Demand is false? Explain why or why not. Use graphs.










25 marks
QUESTION TWO
The growth of customer information organizations,legal requirements and warranty requirements has caused significant increases in the cost of customer satisfaction.Thus it is no longer useful to talk about profit maximization as a company objective. Discuss


25 marks
QUESTION THREE
Given the demand curve Q = 200 - 4P 

a. Graph the demand curve, showing exactly where it cuts the axes. 

10 marks
b. How much is demanded at a price of  kshs.10 ? kshs.11? kshs.9? 

5 marks
c. Use the above information to find the elasticity of the curve at price of kshs.10, that is between prices of kshs.9 and kshs.11. 




5 marks
QUESTION FOUR
. If the shares in a monopoly (Kenya Power and lighting co.) were very widely distributed among the Kenyan population, would the shareholders necessarily want the firm to use its monopoly power to make larger profits? Discuss                                       25 marks
QUESTION FIVE

Given the following demand schedule: 

	Demand schedule 

	PRICE 
	QUANTITY 
	REVENUE 

	15 
	10 
	-------

	10 
	55 
	-------

	5 
	100 
	-------

	
	
	


a. Fill in the revenue column; without doing any further computations, is the demand curve elastic or inelastic? Why? 






10 marks
b. Compute the coefficient of elasticity between  price of  kshs.5 and of kshs.15 using the midpoint formula







15 marks
QUESTION SIX
(a) Explain why firms merge and why in particular firms have choosen to merge in markets that have experienced government deregulation.




10 marks

(b) Define benefit and cost externalities. Explain why situations involving benefit externalities tend to result in an under allocation of society’s scarce resources and why situations involving cost externalities tend to result in an over allocation of society’s scarce resources. 

15 marks

